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Logical Reasoning

Rita’s grades in four tests are 82, 80, 76 and
70. What grade must she get on the fifth test
to raise her average to 80 ? \

(@) 86
(b) 88
(c) 92
(d 96

My mother is twice as old as my brother. |
am' five years younger than my brother but
three years older than my sister. I[f my sister
is twelve years of age, how old is my mother ?

(a) . 24

(b) 30

(c) 40

(d) 50 :

In the following series, find the wrong
element : .
17, 36, 53, 68, 83, 92

(a) 68

(b) 36

(c) 83

(d 92

Choose the alternative which closely
resembles the mirror image of the given
combination. )

ANS43Q12

(@ AURHEOLS
(b) SroesreuA
() 2HAEIDST
(d rsoscAne

Choose the figure which is different from

the rest.

:
M @ 6 @
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ND - 2D/34 (2) , Contd.

(Q6-10) Five roommates Rohan, Saleem, Tanmay,
Umesh, and Vikas each do only one housekeeping
task: mopping, sweeping, laundry, vacuuming, or
dusting ; And only one day a week, Monday through
Friday. :
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(i)  Saleem does the dusting, and does

; not do it on Monday or Friday.

(iii) The mopping is done on Thursday.

(iv) Tanmay does his task, which is not
vacuuming, on Wednesday.

(v)  The laundry is done on Friday, and
not by Umesh.

(vi) Rohan does his task on Monday

What task does Tanmay do on Wednesday ?
(a)  vacuuming

(b)  dusting

(c¢)  mopping

(d) sweeping

What day does Umesh do his task ?
(a). Monday i

(b) - Tuesday

(c¢)  Wednesday

(d) Thursday

What task does Vikas do ?
(@)  Vacuuming
(b) Mopping 4
(¢) Sweeping
-(d) Laundry
What day is the vacuuming done ?
(a) Fridayh :
(b)  Monday

(¢)  Tuesday
(d)  Wednesday

When does Saleem do the dusting ?
(a) Friday :

(b) - Monday

(c¢) Tuesday

(d)  Wednesday

Five poles are fixed in a row. M is on the
left of N, O is on the right of P which is on
the right of N. If L is on the left of M, which
pole is in the Centre ?

@
(b)
(©)
(d)

Oaw e
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12. If in a clock, time is 9:30, then what time
will be in its reflection in a mirror kept in

front of it ?
(a)« 1330
() 1230
(c)¥ 9:30
d 615

13. From the options given below, in which
~option, words are arranged according to the
alphabetical rule found in dictionary ?
1. Church 2. Chance 3. Celebrity
4. Cataract 5. Cement
(a) 4,53,2,1
(b) 43,521
(¢) 4,325
(d). - 4.2.3.54

(Q. 14-17) The following questions are
accompanied by three statements 1,2 and 3. You
have to determine which statement (s) is/ are
sufficient/necessary to answer the questions.

14. Find three positive consecutive even
numbers :

1. The average of four consecutive
even number starting from the last
of the given numbers is 17.

2. The difference of the highest and
the lowest number is 4.

3. The sum of the squares of the
three numbers is 440.

(a) 1 alone is sufficient

(b) 1.and 2 are sufficient

(c) 3 is sufficient

(d) . Either 1 or 3 is sufficient

15.  Rohit got 700 marks in the examination. To
find out his percentage of marks which of
the following information is/are necessary/
sufficient .
1. He appeared in all the nine papers.
2. The highest marks obtained is 90.
3. The maximum marks for each
paper is 100.

(@) Only 1 is sufficient

(b) Only 3 is sufficient

(c) Only 1 and 2 together are sufficient

(d) Only 1 and 3 together are sufficient

ND -2D/34
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16.

1%

the floor of a rectangular hall, which of the
following information is needed ?

1. The length of the hall is 28m.

2. The width of the carpet is 2.5 m.

3. The area of the hall is 490 Sq.m.
(a) Only 1 and 2 together are sufficient
(b) Only 2 and 3 together are sufficient
(c) Only I and 3 together are sufficient
(d) Any two statements are sufficient

What is the relativé speed of two trains 17.

running in opposite directions ?
1. They take 15 seconds to cross
each other.
2. The speed of one of the trains is
60 Kmph.
3. The total length of the trains is
360 m.
(a) . Only I and 2 together are sufficient
(b) Only 2 and 3 together are sufficient

«(c) Only 1 and 3 together are sufficient

18.

19.

20.

(d) Any two statements together are
necessary

Identify the figure that completes the pattern. _ 18.

7 A

M @ 3 @

(%)
(@ 1
(b)) 2
(c) 3
@@ 4

Look at this series :
Vv, VIII, XI, XIV, _ , XX
What number should fill the blank ?

19.

(@ IX

(b) XXIII
(c) XV
(d) Xvi

Which word does NOT belong with the
others ?

(@) inch
(b) ounce
(c) centimeter

(d) yard
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Computer and Internet Awareness @i G QR dceenl
22 A partitions a web browser 2. 9964 9109a Gedig daiee
window so that multiple web documents can @6Q, Qiel qlal NRIY@ 6G] @Q6aq
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(@ 55 : (@) 88 .
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66. What is the shortcut key for “Find and
Replace” dialog box In MS WORD ?
) Gl H
(b) Ctrl + Shift + F
(e) . Ctrl + R
(d) = Ctrl +F

27.  What shortcut key is used to split a table in
MS Word ?
(a)  Ctrl + Shift + Enter
(b)  Alt+ Space + Enter
(¢c) Ctrl + Alt + Enter
(d)  Alt+ Shift + Enter

28. What PowerPoint feature will you use to
apply motion effects to different objects of
aslide ?
(a)  Slide Transition
(b)  Slide Design
(c)  Animation Objects
(d)  Animation Scheme

29. In MS Excel Long text can be broken down
into many lines within a cell. You can do
this through :
(a)  Wrap Text in Format > Cells
(b)  Justify in Edit > Cells
(c¢)  Text Wrapping in Format > Cells
(d) Allofabove

30.  Crl + D shorteut key in Excel will :
(a)  Open the font dialog box
(b)  Apply double underline for the active

cell ‘
(¢) Fill down in the selecﬁon
(d) None of above
~31.  Which menu option can be used to split

windows into two in Excel ?
(a)  Review > Window
(b)  View > Window > Split
(c) Window > Split '
(d) View> Split

A7)

26.

1.

28.

29.

30.

3l
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(a) Ctrl + Shift + Enter

(b) - Alt+ Space + Enter

(c) Ctrl +Alt + Enter
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32.  Which tool do you use to create a query
object in MS-ACCESS ?
(a)  Database wizard
(b) Simple filter wizard
(¢) Simple query wizard
(d) Table query wizard
33. The process of divisidn of memory spaces
is called
(a) Paging
(b)  Segmentation
(c) Bifurcation
(d)  Dynamic Division
34. ' OSI stands for
(a) Open System Interconnection
(b)  Operating System Interface
(¢)  Optical Service Implementation
(d) Open Service Internet
35:: HETP:us . protocol.
(a) application layer
(b) transport layer
(c) network layer
(d) data link layer
36.  Datacommunication system within a building .
or-campus is
(@) LAN
(b) WAN
(c) MAN
(d) PAN
37. A ________ is a device that forwards
packets between networks by processing the .
routing information included in the packet.
(a) ' bridge
(b)  firewall
(¢) router
(d) hub
ND - 2D/34
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38. The “S” in HTTPS stands for : 38. HTTPS 6@ “S” @ 2&] 6268 ?
(@) Selected : (a) Qeneqe
(b)  Secure (b) dexyQ
(¢) Software (c) Qg6
(d) System (d daq
39.  What will happen if the email does not contain 39. 9@ Q0QQ AFAUER REFINER VG K2l 666
the subject while sending ? Q6 629 ?
(a)  Mail will not be sent (@) 66R 6gad 629 IF _
(b)  Mail will be sentnormally (b)) 60R YINTR QR 6gQE 622
i (c) Prompt asking to send mail without (c) S99l Fa06R 661Q TOIRRI RIS QAR
L : subject ] @ gee. sediee
(d) None of these : (d) eu6eas 6RedT g6@
40. In MODEMS : _ 40. 6IELAER :
(a) several digital signals are multiplexed - (a) 26Re @acIq JaRIR q@gqg 608
(b) a digital signal changes some (b) <9 G86Iq TARIR 9@ QLR CALR
characteristic of a carrier wave 8 63584 08aR Q6
(c) digital signal is amplified (c) oFcIRIRING UIARTIR FRIAIN
(d)  Allofthese : (d) QUeaIe NS
41. How many bits are there in hexadecimal 41. 629I6037IN 6RIQER 6960 I¢ 2T ?
code ? i :
(a ¢ ; : '
‘ (a 16 ® o .
| ~ © L @ ¥ ‘ yio
| @ 4 | e |
i 42. “6dR-aiR” @ QAP 6@ “TFIR
| 42. is the functional key to display . 91,,Qm9§m92aglm ? g "
| save-as box. : ‘ .
: (@ F5
i
N (b) F6
(b) - F6 Gl @) F9
S dy. Ry
(@ . Fl12 ) @
: Current Affairs diive Weaiew
43. Who has written the book “The Light We  43- “@ RIQS.§ MIG” J8@ @4 6adiat ?
Carry” ? : (@) QIR B
(a) Barack Obama : (b) Gesm B
(¢)  Sashi Tharoor : 2 o8
| (d)  Amitabh Ghosh ’ () OHEN RN

44,  Q99Q QIR AR &9 2
(a) 9LIfIR AT

44. Who is Mohamed Irfaan Ali ?
(a) President of Guyana

(b)  Prime Minister of Lebanon (b) emARIgR UM
(c)  Foreign Minister of Turkey . : (©) geQ G@G@Q a1
(d) Home Minister of Malaysia d qerdEe geaal-
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Which district got “Best District Panchayat

Award” under National Panchayat Award e
2023 2
(a) Cuttack
(b)  Murshidabad
(c) Ganjam
(d)  Hyderabad
46. Odisha FC won Hero Super Cup in April 46.
2023. Which team did they defeat in final ?
(a) Bengalufu EC
(b)  North East United
(¢) Jamshedpur FC
(d) - Kerala Blasters
47. In which field t{as D.amayanti Beshra 47,
* distinguished herself ?
(a)  Odishi Dance
(b)  Santhali literature
(¢) Odialiterature
(d) Classical music
. 48. President of Taiwan recently visited USA, ~ 48.
| thereby upsetting China. What is the name
of Taiwan President ?
(a) Tsaing-wen
: (b) MaYing-Jeou
(c)  Chen Shui-Ban
(d): Lee Teng—Hui
49.  Who was conferred Sahitya Akademi Award 49.
for Santhali Literature for 2022 ?
(a) Shyam Sﬁndar-Besra
(b) Kali Charan Hembram
(¢) Niranjan Hansdah
| (d)  Kajli Soren (Jagannath Soren)
ND — 2D/34 (10)
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AP “64F PR ALILE 9o FRG ?

(@) @se
b gl
© e
@ eI

9ga 909M6a BG4l 9g. d., @6l IR
Qg H02R | TIRRINER 6AAICR 699 ARG
QUG FAYEM ?

(a) eeegeugd -
(b) @YU-RY GRIRETR
(c) eSIeaege 9 &
d eqae qad

QFGR1 6QQQI 699 6URER FPA ARG
Q& Qs ?

(@) 6@a1 goy

(b), <@ Agey

(c) G6@u ALy

: (d) aIgia Ao

GIRGIR AIRCT RRCER ZICARNI 62 @R6R,

QIR Q1R AP FAgM | FIRGIR QIgAtR
Qe Qe ?
(a) CIR-9q-64Q

®) -eq-0e
(c) 697 ¢a-U
d) @ eow-2a

9099 Qi ARIF ATy AR QLR ARG .
RIERF1 GRRIA FRIF QAUAIRSANI ?

(a) &I gea 6QLQl
(b) QP R4 cage
(c) Fowe Lal

C(d) QPR 6QI6aR (FORIY 6AIERR)
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50. Birthday of Netaji Subhash Chandra Bose is 50.

observed as Parakram Diwas. His Birth day
- fallson:

(a) 2lstJan
(b)  25th Jan
(c) 19th Jan
(d) 23rd Jan

51.  As per data released by SIPRI in April 2023, S

what is the rank of India among countries

" of world in military spending ?
th

(@ 6
®) 4th
© Sm
@ sth
52. Who was sworn in as President of 52.

Bangladesh in April 2023 ?

(a) Mohamad Shahabuddin Chhupu
(b)  Shirin Sharmin Chaudhary

(¢) Mohamad Abdul Hamid

(d)  Zilur Rehman

53. Recently 50 years of “basic structure  53.

doctrine” by Supreme Court was celebrated /
observed. In which case was this doctrine

laid down 50 years ago ?

(a) Keshavananda Bharati case
(b)  Golaknath case

(¢) Minerva Mills case

(d) Menaka Gandhi case

54, Where was country’s first water metro - 54,

inaugurated recently ?

(a) Kochi
(b) _ Prayagraj
(c) Delhi
(d)  Kolkata
ND — 2D/34 (1)

GET IT ON

Google Play

6R0IR1 JAIS ) QAR PQERY TAIgA
690 NUR AR WIAN | OITR g 9
6Q69 ?

(@ 9¢ g
(b) 9% RgaR
(c) e¢ RIgaa
@ 97 SIgEQ1
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(a) <9

(b) ogd
(c) <Ea
d zeq

IR 9097 6Q ARIELEIR AIYAG AR
@9 692 o8 QAR ?

(a) Q27Q SIRIPER 89

(b) @dg afg eslya _ l
(c) €290 2R 26AQ f {
(d) Fga caealR

fecea g8 6a16s QIal ‘6edQ 89R 0]1R

Q 80 QTQ! AIRR/AGUL FQUAIRAR! |

%o Q¥ g6@ €@d cIARIca 1@ deie
QHIQIREARI ? :

(a) 69N VRS Fllciml

" (b) - 6QIRRRIY AIAR

(c) Feqqal g Alawl

(d) 60991 GIf AIARl

FAT6R 6AFR AR QISR 671681’ 6QV0IER
QQAITO 6cARAMI«?

(a) 6RI
®) gaeale
© o8
d) 6RRRIQ!
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Shri Prakash Singh Badal died on 25t April
after a distinguished career in politics. How
many times was he Chief Minister of
Punjab ?

(@) Twice

(b) Thrice

(c) 4times

(d) 5 times

Which among the following countries is not
a Member of QUAD ?

(a) USA.

(b) India

(c) Japan

(d)  South Korea

Sportsmen of which among the following
discipline are on protest at Jantar Mantar in
April 2023 alleging sexual harassment and
corruption in their federation ?

(a) Wrestlving

(b)  Weight lifting
(¢) Gymnastics
(d) Swimming

13" 1cC men’s Cricket World Cup (ODI) is
scheduled to be held in Oct-Nov 2023 in :

(a) England
(b) Australia_
(c) India

(d)  South Africa

Per capita jncome growth between 2011-12
to 2022-23 for India (CAGR) was 9.4%.

During same period what was per capita

income growth in Odisha ?

@ 9%
b) 9.5%
(c) 10%
(d) 10.5%

(12)
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g1 geld 32 QAR AR1Bea QNSRS
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(a) geea
(b) TR
(c) o1& aa
(d ameaa
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Q6L ?

(a) eade
b «ee
(©) e

d <ofa ezl

FaRde aug e Salgq QIPIFQAIER
6AAIPE QAER 6dle FdIOR 1e° 916
AREAIS 2IE 9FR 90 9T6a PIAFBR0IER

9091 @gad ?
(& o8

(b) SeRIeRIRG
(OR [0

(d) <eed

UBQYIA-QERAA 90 9N6R, MO AINTT
998 3606 Ageq (d7%21) sedoisa 2gde
62Q 7 -

(a) on¢

(b) aeqRel

(c) e

d) ofeagel

JoRR-09 Q 9099-97 FRIEA RIGEQ
qedel g 2898 (AeeaR) ¢.¥% gl |
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6R6Q Ml ? :

(@) %

(b) c.8%
() eo%
(d eo.8%
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60.  During 2021-22 Indian Economy‘s growth
rate was estimated at 8.7%. What was the
growth rate of Odisha Economy during the
same period ? -

(@) 8.5%
(b))  9.5%
(c) 10.5%
d * 11.5%

Data Interpretation

(Q61-64) Study the following bar chart carefully
and answer the questions given below it.

Crude oil availability. (India) (In million tonne)

20
15
10

5

14 13.93 141

0
1988-89 1989-90 1990-91 1991-92 1992-93
M Production B Imports

61. Crude oil production (in million tonnes)
during the year 1991-92 was :

(@) 144
® 107
() 14.1
@ 89

62.  What was the difference in crude oil imports
during 1990-91 and 1991-92 (In million

tonnes) ?
(@ 0.3
(®) 0.2
@) 0l

(d)  No difference

63. In which year, was the crude oil production
roughly 80% of the imports ?

(@ 1989-90
()  1990-91
(c) 199192
(d) 1992-93

64. As compared to imports, what was the
percentage of crude oil production during

1988-89 ? :
(@ 45% ;
(b) 50%

(€) 55%

d 60%

ND - 2D/34

(13)

A DOUIE

60.  909€-99 6a VUAGIA AT ARYR 2R
F.9% Q29 6QR 2IRPL FAUAMARN | 698
QFG6R B34 LAROR ARYR AR 6960 g ?

(8). 8%
b)) 8%
(c) e€o.8%
(d) " eeex
@Y YIgI

(Q 61-64) ARG ‘AR 16" AR Q0 2RO
20 I NLIQ Fe6a TR YRR 298
Qag | :
gedle 66@ aaaeel (a19e) (fge
eqea)

90

eM.eq  e¥.e  ewy eg

es ey

€o

o .
QCUIT-I'¢ eUrC-co eCro-(eerre-¢9 euwE9-oq

M eqiee B aiaei

61. eeee-¢9 AQQI6R Z6AIE 6090 AQIRR
- - (990 6968 6260 62RUMI ?

(@ e¥y
(b) €0
(€) ex.e
d rue

62.  RCCO-CR NQ° RCCR-C9 CRIEA ACHIYS
66nQ 2R @ HRUIR 6760 (GO §76R) ?

(@ om
(b) o9
(€) o

(d) 66 QP 918

63. 6QQ QU6R YCAING 6BRR AYIDR, ZIAQIRT
@RRIER GID 0% 629 ?

(@) eere-co
(b) ecco-¢e
() ecce-¢9
(d) ecc9-em

64. AFAAN GIAER, € M-I ¢ 6Q ACAINS 600
Q QAR F0RF! 660 2RI ?

@ ¥&%
(b) 8o%
c) %8%
d) 0%
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(Q 65-59) FREC AlRdp ANRIIFTIR A2 BIAR 0P
NE° N2IQ B6R QLIRS GEIERR 28R e |

RCTY @ eCCo AUEA 9 e QIRY QIR alg
g9 (Fge og6a)

(Q65-59) Study the following table carefully and
answer the questions given below it.

Sugarcane production by six major states during
1986 to 1990 (in million tonnes)

ar J
st Poach il b a ] i Sl Pl o] R | s| 1] x[eqes
986 [ 140 | 65 | 48 381 391 221 352 eerslevo| 98 [ wr | ar | ame | 99 aig9
M8 LIS0 Y 651 7 1 491 36 [ 7] 389 earrfeso| 88 [ 99 | wo | 9| 99 arc
1989 | 168 60 | 45 65 43 | 25| 406 RArcfesr | D [¥8 [ 98 [ sm| 98] g0
1990 | 170 | 45 | 70 62 | 421 23] 412 RCCofe9o | ¥& [ 90 | 99 | w9 | 9| xe9

65. Which of the .following States shows a 65.

constant fall in sugarcane production every
year ? :

FARGe Aug 6@ QIRYER 9o aig
RAIVAER QIS 1A 6QHIAI ?

) B (@ P
() Q . ® Q
(e)" R B (e) AR
(d)  None of these (D) eoeae 6a1adF ged
66. In which year during the given period was 66. MRS 9F F1IER 696 2, 6elle QAR

the percentage of state Qs share the highest

in the total production ? RS0 go99 Ala adiye 28 #

. (@ 1986 : , @ ecrs
L (b) 1987 : : b) ecre
(c) 1988 (© eerr
i @ 1989 § N (@) eore ;
67. Inwhich year does state ‘P’ have ashare of ~ 67. 696 <, QIS 2ig BYIIRER QM ‘P’ @
‘ about 35% in the total sugarcane production ? ‘ QUG N8% &g ?
i : (@) 1986 , @ ecrs
: -~ (b) 1987 : ; b)  ecro
{ediai 1 98 ' ‘ (¢) eern
d 1989 wim - R LI

68. In the year 1990, how many of the given
states have a share of 15% or more in the
! total sugarcane production ?

(@) Three

68. ecCco AQRI6R, 6716 2 QAYIIRER,
- QULINYS! QIRIGER FRIQ 69606EIT QIRIR
QUG 8% @ 9 Ol 2L ?

: (@) Tl
(b)  Four | ) o@e
(c) Five : () Qs
(d Al (d aeg
69. What was the_;xtent of increase in sugarcar}e 69. e¢ ,—Q_l RCCo AXER QIRY ‘S’ 6 Y :
production in state ‘S’ from 1987 to 1990 ? : QIR 6966 9T 62T ?
(a) 6 million tonnes : (@) 23906Q
(b)  7million tonnes - (b) 9dgeeq
(c) 10 million tonnes () eoFgeeq

(d) 12 million tonnes d) 9 Gge eg
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(Q70-71) Study the following bar diagram carefully
and answer the questions given below it.

Loss due to strike of Textile workersvin
Mumbai (Rupees in Crore).

200
150

115 110
100 e

50

0

‘Production Export Wages

-] 0SS due to----——--—

70.  The ratio of losses due to production

proportion to losses due to wages

approximately equal to :
(a) " 2:T11

() 1142

8y s

@) .04

in
is

During the strike, the ratio of the loss in

export in proportion to loss in production

is: o

@ 23:31
(b) 4:5
(e) i3
@ 12:11

(Q72-74) In the following table, results of two
schools A and B are given. On the basis of this

- 7 A DOQIE

- (Q 70-71) GYRAES ‘QQ 99’7 ARISSIQ_AR

AR QAP NQ° N2 F6R FURINLUS YIPeR
QR G2y | ;

66Q QWe ghies udae ealg 88

(6QI¢ oFI6Q) |
900
288
L ees eeo
QgIF agal
-------- LTIl [ R —

70. QQIe? *FC H6 9L° A1 QY 62IRYQI
[EQ AFAIS GIol 6966 ?

(@ '9:¢¢
(b) ee:9
(c) 9:8
d 9:¥%

71. uFA6 ANG6R QYR 906 86 1e° aQIeR
. 900 A0 A26Q AQAIQ 6960 ?

(@) 9Mme
b) ¥:8

Gife) BTES

(@) e9:ee

~

(Q 72-74) 3RTS AIQEN6Q 906 SR A I9° B

Q INTR QUG | 1@ A4 2RINER, FREE

table, answer the following questions. -9490ea eaa dag |
School A School B QIR A QYIRS B
Class | Appeared | Passed | Appeared | Passed |egen | adal | aiq - [ a@a g
in the exam in the exam QY 6M [6210ad| cealeq 62IRad
X1 140 136 % <110 i Qe | exwo eM8 | :eRo ??
Xl . 160 150 N 105 NRIQgl| €0 8o % Ro8
X ” 160 110 80 Qaa [ 2.7 €80 | feo 1 %
IX 130 7 90 340 @7 | eMo 99 to Ny o
TOTAL 630 550 430 340 Al Mo 880 ¥Mo qnY o
72.  What percentage of students passed in both 72. Q09 IMIRLER A 6960 JTHO B1gRIGT
' the schools ? diq /83 ?
(@ 80.0 (@ ro.o
(b)  83.9 (b) ra.c
(c) 874 (0)  Eox
(d) 90.0 (d Co.o0
ND - 2D/34 {10 Contd.
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74.

The total number of students who have
passed in class X in the two schools, is :

(@ 310
(b) 255
(c) 240
‘) 155

The average of the students who have passed
in classes IX and X from school ‘A’ s :

(@ 700

() 1325
(c) 1425
(d) 1550

(Q75-78) Study the data given below and answer
the following questions.

. 500 delegates in an international meet were

handed over cards like the following :

English EL]
French F L1
German S |
Asiatic Language LA

They were asked to tick the names of the
languages in which they had sufficient skills.
Then the cards were collected and sorted
into piles with the following numbers of
cards in each pile.

Languagesf E | G| A[EA| EG| EF | EAF |[EGF
Ticked . : :
Number of| 165/ 32| 1570 | 81|84 | 41 |10

cards : ‘

There were no GA or GEA, and every card
with F marked also had E. ’

75.  How many delegates were proficient in all
: the four languages ?
LR
() 4
(e 1
d o0
76.  The number of delegates proficient in both
English and French is : !
(@ 95
(b) 130
(c) 250
(d) 135
ND - 2D/34
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Q08 INIRAER QEFl 6g4116Q QI PR
QI8 RIQRIQIT A°HYl 6960 ?

(a) qeo
(b) 988
() 9%o
(d) ess

QIRG ‘A’ @ 97 B8 4 694160 AIY
RALLQ 2QILIA FGRIGIT AU 660 ?

(@ 90.0

(b) eqm9.s
(c) e¥9.8
(d es8.0

(Q 75-78) Bejea QARSI G2y Zge Q0g 9Q°
IRFe gggeen eaa Qag |

IR ASRISIg AFRRIEQ Boo godus
Fgade @f QI gale IRl |

QAR E[]
(3¢ E-Ed
edie : G[J
Q1Y QU A

609 AVIEA 6IFIRFTR 62T QTG Q&R eIRIQ
171 §Q @Al QRIAIRARI | SIg6ea lelatale)
Qg2 @RIl I9° FIREE A°6Ye QIS Zigalg

3|

LU

309 @3 ARG 2RI FRI6a QEITRl | .
QRSN £ (G | o | EA| EdEF| EAFEGE

clegeea
Lges

Yoo,

76.

€989 [ 8| 90| refry| ¥e | eo

6Q0I6Q 6@I6Id GA @2l GEA Q16 2RI, Ie°
F 526 29I g6 @Igea E o gl | -

6960 R4 ORISR AFS VIERIT AITISR TSI
aRl ?

@ 9
b) ¥
{€) ¢
d o

QLRI 6 675 UG QAR FTO! AR goRE
QHYl 6960 ?

(@ o8

(b) emo
() 980
(d ems
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77. How many are proficient in only two 77.  699% @@% QIGIGQ QU0! Y gORUER eyl

languages ? 6960 ?
@y 4. : (a) €90
(B 235 ‘ (b)) 9Ins
(c)é-250 s (c) 980
(d)- 190 : (d) eco
78. The number of delegates proﬁment in only 78. €99 GGIIG‘\'J QUEIER 86! Q@I g%‘d%
one language is : A6yl 6Q6Q ?
(a) 453 ' (a) ¥8M
(b a3/ (b) eqme
X (e) « 208 . () 900
* d 212 @ 99
Ij (Q79-81) Study the following bar diagram and  (Q79-81) 7980 ‘QR Ql6’BRIOE ARG 1&° R6a
answer the questions given below it. YIRS 9990 28a Feg |

Addltlonal Taxation (Rupees in Crores) 2660 Gea (6916 6RI6a)

800
700
600 7§
500
400
300
200
100 4

9¢9

79. The increase in additional taxes in 1988-89

as compared fo 1984-85is : = 79, RCM¥-T8 QARIER RCrT-re¢ 6a 86aS
(@ 54% : : - §Qa6a 660 98 62108 ? ;
(O 8% ' (@) 8.¥%
(c) 95.6% ' b) ¥8%
() ~11.2% : (€) ¢8.9%
3 80. As compared to 1988-89, what was the @ ee.9%
) pergcer;tag?e of decline in addmonal taxes in 80. RCIT-r¢ 9RAIER RCCo-Ceea 2608
U 1990-91 §QQ6a §0Q0! 6R60 QI CRIRE ?
4 (@ 37.75% ; (@ N9.98%
¥ (b) 65.8% b) 981 %
0,
(Z) gg-g/’ L o). 9%
(d) 8% : (d <er%

81. During which year the percent increase in
additional taxes compared to the previous
year is highest ?

. 81. g9 od geRIea cad QF, U6A9 Feasa
§0a0 98 AR 62IaR ?

(@) 1987-88 (a) o«
(b)  1988-89 ~ () eerpene
(c) 1990-91 (). tteo-uR
(d) 1991-92 (d ecee-¢9
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(Q82-86) The table given below shows the
percentages of the total population of a state by
-age groups for the year 1991. Study the table and
answer the questions 22 to 26 given below it.

Age Group Percent

Up to 15 30

16 — 25 L7715

26 —35 17.25

36 — 45 14.5

46 — 55 14.25

56 — 65 5.12

66 and above 1.13

Total 100

82.

83.

84.

85.

86.

ND - 2D/34

Which one among the age groups listed-

below accounts for the maximum population
in the state ?

(@) 16-25

(b) 26-35

(c) 36-45

(d) 56-65

Out of every 4200 persons, the number of
persons below 26 years is :

(a) 2005 (approx)

(b) 1760 (approx)

(c) 1910 (approx)

(d) 1890 (approx)

If, there are 200 million people below 36 -

years,how many million people are in the age
group 56-65 (approx) ?

(a) 30.07

CB): = 1575

6c) 12,78

(d) 59.30

[fthere are 10 million people in the age group
56 and above, what is the extent of
difference between the total number of people
in the age group 16-25 and 46-55 ?

(a) 6.8 million (approx)

(b) 5.6 million (approx)

(c)  28.4million (approx)

(d)  34.7 million (approx)

[f the difference between the number of
people in the age groups 46-55 and 26-35 is
11.75 million, then the total population of the
state is :

(a) 400 million (approx)
(b)  391.67 million (approx)
(c) 360 million (approx)
(d) 460 million (approx)

(18)
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82.

83.

84.

85.

86.

396 SIFRIRs Qag od Aug cedEea
AIRIQ QSR PRAGI 789 7 |

(@ ¢9-98
(b)) 99-ms
(c) Nno-¥8
d 89-98

go ¥900 PG ARIQ 99 Qdg @A QAT
Q¢ 6260 QDS ? :

(@) 9oo% (aaid)
(b) e990 (aIaId)
(€) eceo (aIsad)
@ erco (asiad)

9@ M9 odg @F QAR 00 FYE CAIR
URd, 8 626R 89-98 od QU AR

660 590 cRIe (aIsIaId) elee ?

(a) Mo.09
(b) _¢8.98
(c) e9.98
d s¢mqmo

A9 89 Qd @0l 6’ 0IQ IS QAALGQ € o
G90 6RIR 28T, 6069 €9-98 1e° ¥9-838
¥ QOAQTR 61 CRINE A°FYI AIRISR DIy
6Q60 ? :

(@ o.r 8ge (asad)

(b) 8.9390 (asiad)

(c) 9r.¥age (aald)

d Ny.97ge (asad)

A3 ¥9-88 B 99-N8 oF QUALER 6RIQT

QB RIER DR € €.98 BYE, 6669 ARG
AP PRAHYI 6Q6E?

(@) Yoo 3ge (aIaid)
(b). Mce.99 dge (aiiad)
() @m0 Fge (asiad)
(d) ¥90 dge (asiad)
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(Q87-90) The following pie-chart shows the
sources of funds to be collected by the National

Highways Authority of India (NHAI) for its Phase IT

projects. Study the pie-chart and answers the
questions 27 to 30 that follow.

Sources of funds to be arranged by NHAI for
Phase II projects (in crores Rs.)

Borrowing,
29952

87. Near about 20% of the funds are to be
arranged through :

(@) SPVS
(b)  External Assistance
(¢) Annuity

(d) Market Borrowing

88. If NHAI could receive a total of Rs. 9695
-crores as External Assistance, by what
percent (approximately) should it increase
the Market Borrowing to arrange for the
shortage of funds ?

(@ 4.5%

by 7:5%

(c) 6%

d 8%

89. The central angle correspondmg to Market

Borrowing is :

). 528

(b)) 137.8°

(c) - 187:2°

(d). 192.4°

90. The approximate ratio of the funds to be
arranged through Toll and that through
Market Borrowing is (approximately) :

@ 209
{b) 1:6
(@) 31
28
ND - 2D/34
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(Q 87-90) AgAdie ‘AR QI6'6q ANGIL 1019

QU992 GALAd (¥]. ¥Q. ¥. 2IR)a §e1a adiie

gef aIgl 2R QIS A1 g edialed |
AQ-9I AR Gag 19° 0aed 94272300
aea d2g |

(4R94IR) qe1a umla ges aIx
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Arithmetic
91s Evaluate: [(18 - 6) + 41 +[72-12+3
of 2]
(a) 768
) 572
(e) oS
(d 752
92.  Total number of d1v1sors of 10500 except 1
and itself is :
(a) 48
(b) 46
kc) 42

(d)  None of these

93. What is the least possible number, which

when divided by 2, 3, 4, 5, 6, leaves the ‘

remainders 1, 2, 3, 4, 5, respectively ? '

(@ 60
(b) 61

ai(e): 59 ;
(d 69

94.  The fraction equivalent of the recurring
decimal 5. 8737373...... is:

173
@ S50
873
® S50
@: sl

(d) None of these

95. , Which one is highest among the following

fractions % %%—% ?
a1
® £
Sl ey 2
(d) %

8
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96. In the below given expression, what is the

value of ‘?’
an*’ xan’=an’
(a) 229
(B) = 2875
(c) 4.25
(d) 4.5
97. Number of zeros at the end of the
expression
10+ 100+ 1000 +.......... + 10000000000
is:
(@) =t
() 10
(c) 55

(d) None of these

98. Find the unit digit of the expression
77 % 88 + 66 x 55 :

@@ 7
(® 6
() 5
@ o0

99 888 x 888 x 888 - 222 X 222x 222 _ ,
© 888X 888 + 888 %X 222 +222%x222  °

@@ 1110
(b) 666
(8): &
d 16

100. Find the remainder when (1719 x

1721 x 1723 % 1725 x 1727 ) is divided by -

18:

(@) 1
() 27
)" 9
(d) .15

101. The average age of Sumit’s family consisting
of 5 members, 3 years ago, was 35 years.
One year ago, a new baby was born .in the
family. Three years hence, the average age
of the family will be :
(a) 36 years

(b) 343 years

(c) 35% years
(d) None of these
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102. A milkman has 20 litres of milk. He mixes 5
litres of water, which is freely available, in
20 litres of pure milk. If the cost of pure
milk is Rs 18 per litre, then the profit of the
milkman , when he sells all the mixture at
cost price is :
(@ 20%
(b)) 25%
() 5%
(d) 33.33%

103. The incomes of A, B, C are in the ratio
12 : 9 : 7 and their spending are in the ratio
15 : 9 : 8. If A saves 25% of his income,
then, what is the ratio of savings of A, B
and C ?
(&) . Ll 13:+18
(b).  15: 18zl
ko) .16 T 21
(d)=213296.%1

104. Dueto fall in mangower the production in a
factory decreases by 60 %. By what percent
should the working hours be increased, to
restore the original production in the
factory ?
(a) 40%
(b) 66.66%
(e} Thalls

(@) 120%

105. A man sells two wrist watches, one at a
profit of 10% and the other at a loss of 10%.
But the selling price of each watch is Rs
200. What is the percentage of profit or loss-?
(@) 1% profit .
(b) 1% loss
() 2% profit
(d) 2% loss

106. Compound and Simple interest on a certain
.sum, at certain rate of interest,after two
years is 220 and 200 respectively. What is
the Principal sum ? :
(@) Rs2,200
(b) Rs 2,000
(c) Rs500
(d) Rs 1,000

107. A is twice as good a workman as B, and
therefore, able to finish a piece of work in
30 days less than B. In how many days, they
can complete the whole work, working
together ?
(a) 30 days
(b) 15 days
(¢) 20 days
(d) 40 days
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108.

The distance between office and home of
Uma is 80km. One day she was late by
1 hour than the normal time to leave for the
office, so, she increased her speed by 4km/hr.
Thus she reached to office at the normal
time. What is the changed speed of Uma ?

(@) 20km/hr
(b)  16km/hr
(c) 40km/hr
(d)  10km/hr

109.

110.

Between 2’0 clock and 3’0 clock, at what
time , the two hands of a clock coincide ?

(a)2:::104 36
() 2:10:45
(€) 2510 54
(d) 26210 ; 56

Find the cost of carpeting a room, 17m long
and 9 m wide, with a carpet 60cm broad at
40 paisa per metre of length.

(@ Rsl1l10
(b) Rs102
(¢) Rs100
(d) Rs 112

111.

112.

113.

If the sum of the first 14 terms of an AP is
1050 and its first term is 10, then, find the
20th term from the following ?

@@ 170
(b) 180
© 190
(d 200

Two dice are thrown. What is the probability
that the sum of numbers on the dice is a
prime number ?

@) 1/6
() 12
() 113
@ 512

A truck driver, once in a week, leaves his
house and-drives to the river dock to pick
up supplies. At 6:05 PM, one-fifth of the way
to the dock, he passes the Temple. At 6:15
PM, one-third of the way, he passes the
Dhaba. At what time does he reach the dock ?

(@) 6:50PM

“(b) 6:55PM
.(¢) 7:00PM
(d 7:05PM
ND — 20/34
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Sami decided to give Kachoris to her friends
on her Birthday. If she gives 3 Kachoris to
each friend, one friend will get only 1
Kachori. Also, if she gives 2 Kachoris to each
friends, she will be left with 13 Kachoris.
How many friends are there ?

@y 12

(b). 1S

(c) 17

d) 16

The calendar for the year 2007 will be the

same for the year :
(a) 2014
(b) 2016
c) 201
(d) 2018

In Roman Number System, there are seven
symbols which are used to represent the
whole number system. The symbols and
their respective values are given below.

=1, V=5, X=10, L=50, C=100, D=500,

M=1000 ; Then, the value of the numeral

MCDLXIV is :
(a) 1666
(b) 664

(c) 1464
d) 656

A +12°+13°+ 4209 =9
@ 2575
(b) 2485
(c) 2395
@ 2295

The price of 10, chairs is equal to that of 4

tables. The price of 15 chairs and 2 tables-

together is Rs. 4000. The total price of 12
chairs and 3 tables is :

(@ Rs. 3,500
(b) Rs. 3,750
(c) Rs. 3,840
(d) Rs. 3,900

When Rahul was born, his father was 32
years older than his brother and his mother
was 25 years older than his sister. If Rahul’s
brother is 6 years older than him and his
mother is 3 years younger than his father,
how old was Rahul’s sister when he was
born ?

(@) 7 years

(b) 10 years

(c) 14 years

(d) 19 years
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A bird shooter was asked how many birds
he had in the bag. He replied that there were
all sparrows but six, all pigeons but six, and
all ducks but six. How many birds he had in
the bag in all ?

(@) 9

(b)- .18

(e) . 27

(d) 36

In a family, each daughter has the same
number of brothers as she has sisters and

each son has twice as many sisters as he -

has brothers. How many sons are there in
the family ?

(@ 2
()3
(c) 4
@)~
An error 2% in excess is made while
measuring the side of a square. The

percentage of error in the calculated area of
the square is :

(@ 2%
(b)) 2.02%
(c) 4%
(d) 4.04%

Two pipes A and B can fill a cistern in

37% minutes and 45 minutes respectively.

Both pipes are opened. The cistern will be .
- filled in just half an hour, if pipe B is turned

off after :

(@ 5min
(b) 9 min.
(¢) 10 min.
(d 15min. .

A and B entered into partnership with capitals
in the ratio 4 : 5. After 3. months, A

withdrew %th of his capital and B

withdrew —;—th of his capital. The gain at the

end of 10 months was Rs. 760. A’s share in
this profit is :

(@) Rs.330
(b) Rs. 360
(c) Rs.380
(d) Rs. 430
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Twotrains, one from Howrah to Patna and

‘the other from Patna to Howrah, start

simultaneously. After they meet, the trains
reach their destinations after 9 hours and 16
hours respectively. The ratio of their speeds
is:

(a)
(b)
(c)
(d) 6

The effective annual rate of interest

O N AN

i3
3
i
L

corresponding to a nominal rate of 6% per

annum payable half-yearly is :

(@)  6.06%
(b)  6.07%
(c)  6.08%
(d)  6.09%

The population of a town in the first year
increases by 10%, in the next year it
decreases by 10%. Once again in the third
year it increases by 10% and in the fourth
year it decreases by 10%. If the present
population be 20000, then the population
after four years will be :

(@) 16902
() 19602
(c) 20692

(d) None of these

Three unbiased coins are tossed. What is the
probability of getting at most two
heads ? :

@ 3
@ 4
¢ 3
@ i

In 100 m race, A covers the distance .in 36
seconds, B in 45 seconds and C in 48
seconds. If same speed is maintained in a
race of 1600m, B will beat C in the said race
of 1600m by : :

(@ 80m
() 75m
(¢) 100m
(d 85m
2D/34
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A sum of Rs. 10000 is borrowed at 8% per
annum compounded annually, which is paid
back in three equal annual instalments. What

-is the amount of each instalment ?

(@) Rs. 4199,04
(b)  Rs. 3880.34
(¢) Rs. 3905.06
(d) Rs. 418035

A trader mixes 26 kg of rice at Rs. 20 per kg
with 30 kg of rice of other variety at Rs. 36
per kg and sells the mixture at
Rs. 30 per kg. His profit percent is :

(@ No profit, no loss
b)) 5%

c) 8%

d 10%

‘A man takes twice as long to row 4 distance

against the stream as to row the same
distance in the direction of the stream. The
ratio of the speed of the boat (in still water)
and the stream is :

(8) 21

(b) 3:1

(c)8:2

d 4:3

A scooter has 2 tyres and one Stepney (i.e.

a total of 3 tyres). Each tyre can run up to
a maximum of 5 km. What is the longest

- distance, which can be covered by the

scooter ?

(@ 5km

(b) 7.5 km

(c) 10km

(d) None of these

150 workers were engaged to finish a piece of
work in a certain number of days. Four
workers dropped on the second day, four more
workers dropped on the third day and 'so on.
It takes 8 more days to finish the work now.
Find the number of days in which the work
was completed.

(@) 20 days
(b) 23 days
(c) 25 days

(d) None of these

(27)
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133.

134.

e Geialg, Qiaig 86918 anie Ade @d6a
6008 QAL | g6 @8a adifI€ 6Q60 ?

(a) wect.oy
(b) arro.my
() MNCo.09
(d ¥eroms

P66 QG ¥R @A 99 .9l QAR
(Feml dal 90 o@1)d2 QY 9@ BaaQ
Mo @.91. Slerg (Feal d8l N9 o) fsia
Agag @eml 9gl Mo oalen G Q9a | 9Iea
AR OG0 6R60 629 ?

(@) @@ AT, 96 QI

(b) 8%
) - F¥%
(d)  eox

P64 Q13 AR 69107 FE6R G FARIP
606@ ara 78, 6g10a Jafe Adea AAIR
GOG! 2oar GOR! IR SRGE ARG 6FRRIZIB |
6069, @FIQ 626 (8 QIdieq) 9e° ¢QdIR
696IR AUPAIO 6@6Q ?

@ 9:e
(b : ¢
€) @:9 ?
d ¥:mq

661G 2ERER 96 G'IQIQ @ 60T 689f -

(ZJZJIQ qqoxa 6 SIaIR) &R | gepi@ sl

' QQI&.{Q 8 @eRIdieq adis QNAIAR | 6062,
Qgen @QOI 6609, FIPIg FEQ QA AGRE

T QAUAALIRR ?
(@ 8Q.4. ;
b 9.8&.4.
(c) eo@. 4.

(d @o6qIs 6T g62

@l Ga6a 60IGY QI 668 QA QIR
e80 @4 gfie Feade 621R2L6R | Q019
@90@ ¥ @6 gfe aggae Q@em, Qo1
@@0@ AR Y 96 gﬂ@ agga@ QRER 1Q°
2R QU6 2SN @QOIQ goae 2R ¥ 96
gﬂ@ UQAPG QEEM | YEAR QIR QIF Qua@lg
ge eaml 2R I @9 ARG 2SI AIGE |
6062, 6R60 GR6Q QIF AQAMI ?

(@ 90 Q@
‘®) snae
(c) 98 Qe

(d) @u6Is 6x1edT Q6L
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t35—Tea worth Rs. 126 per kg and Rs. 135 per
- kg are mixed with a third variety in the ratio

1 : 1 :2.1If the mixture is'worth Rs. 153 per

kg, the price of the third variety per kg will be :

(a) Rs. 169.50

(b) Rs. 170
(c) Rs. 175.50 -
(d) Rs. 180

Logical Reasoning

(Q136-138)In each of the following questions,

- there are four groups of letters. Three of these are

alike in some way while one is different. Find the

- one which is different.

136. (a) EDCBA
(b) ONMLK
(¢) JIHGF
(d)  XWvuy
137. ‘(a) AEDCB
(b) GKIH
(¢) MQPON
(d) PRSTQ
'138. (a) KLLM
(b) TUUW
(c) XYYZ
(d) - OPPQ

(Q139-141)A sales representative plansto visiteach
of six companies M, N, P, Q, R and S exactly once
during the course of one day. She is setting up her
schedule for the day according to the following
conditions.
(I)  She must visit M before N and before
R

(I)  She must visit N before Q.
(III) The third company she vigits must be
GP ’

139. Which of the following could be the order in
. which sales representative visits the six
companies ?
(@ M,R,N,Q,PS
() M,S,P,N,R,Q
(¢) PR,M,N,Q,S
(d P S,MR,QN
140. Which of the following could be true of the
sales representative’s schedule ?
(@) She visits M third
(b)  She visits R sixth
(¢)  She visits P first :
(d)  She visits Q second :

ND - 2D/34

(28)
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(@) €9¢.80 ¢Q

(b) €90 ggl

(c) €98.80 g

d) eroegl
9899 o«

(Q 136°138) BRT0 Q6@ 9g6R, 2FaQ 9IGE
6lIA1 2R | IAIRE ARIQ B6RIE 6Rlad I ealed
QUIGER AAR 6ARYR 66R 63T G 2166 | 69T
UMGI| AUCS QIAQP 6HIPG |

136. (a) EDCBA
(b) ONMLK
(c) JIHGF
d) Xwvuy

137. (a) AEDCB
(b) GKIJIH
(c) MQPON
(d PRSTQ "

138. (a) KLLM
(b) TUUW
() XYYZ
(d OPPQ

(Q 139-141) 9661 S22 gEFY, 661G~ 9 QI6R, O]
26a, 96 @etia1 M, N, P, Q, R ¥<* S afedie @aQig
8UIR?l QRS | A0 AR AP 6Q F9Q AIN

Fea QIHige1 da Qas |
I)  6aANgeQ e RYSQ Madads aaal
| ) am?;’@ 9eQ

(II) QgeQ 6aANg afeds *aQ! 2IRqIQ
(Ill) 6Q AR QYR Q019 AR
62Q@ P | :

139. Fq@de aug 624 6af @ ceInalcn

60Q26a 09 gORY 286 ee! adede
@08 ?

(@ M,R,N,Q,P,S

() M,S,P,N,R,Q
(©) PRMN,Q,S
(d PS,MRQN

140. RQQAEe AIQ 6R66 dga gotye QIdiget

JIA6R AGY 62IRQNER ?
(@) 62 M, @o19 G760 afede @ad
(b) 6aR, 99 F6q fGde 008
(c) 6 gaes P adiade @ad
(d 6QQ, 3010 grca ahede @ad
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141. Ifthe sales representative visits ‘S’ first,
which company must she visit second ?
(@ M
(b) N
() P
(d Q

(Q142-144)Select a suitable figure from the Answer
Figures that would replace the question mark (?).

M2
Problem Figures : Answer Figures :
e N O i s L
(A) B) €) O ) @) 4
(@ 1
by 2
()3
@d 4
143.
Problem Figures : Answer Figures :
QDFO 7| S0
@A B © ® O @ 6 @
£ L
) e
te)- -3
@ 4
144.
Problem Figures : Answer Figures :
o [o l
R ERESEE
@w @e © ®M @O @ 6 @&
(@ 1 s
(b) - 2
(¢):3
@d 4
145. A,B, C,DandE are five rivers.‘A’is smaller

than B but longer than ‘E’. “C” is the longest
and ‘D’ is a little smaller than B and a little
longer than A. Find the smallest river.

(@ A
(b) B
). €
(d) E
ND —-2D/34 (29)
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@ Q
(Q 142-144) g§ 99 (?) Q2R6R QQQ §8Q Q-
QUgYS 08 999 Qag | :
142.
9499 : 290 59 :
A @B .C O OH @ G @
@ !
® 2
) 3
@ 4
143.
94 58 Q99 99 :
B [lelela
@a ® © O OH O 6 @
(@ .1 :
b 2
© 3
d 4 "\'
144, e
94 89 : Q88 99 :
o _|® |
s Wsels)
A B) (©) (@D (B2 o8) (4)_
R
b 2
(€) 3
@ 4
145. A,B,C,D, 9@° E Q86 al | ‘A’, ‘B’ 0IQ

62I6 @g EOIQ @l | ‘C’ 6298 2901 R
¥e° ‘D’, ‘B’ 0IQ 56 6216 9Q° A 0IQ §@9
@Al | AQOIQ 6216 AQ1E @9 ?

(@ A
® B
) &
d E
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H6—Whatwill come in place of question mark in
the series ? :

150 152 149 .153 148 154 2
(a) 155
- (b) 152
(c) 147
(d) 149

(Q147-149)In each question below are given two
statements followed. by two conclusions
numbered I and II. You have to take the given two
statements to be true even if they seem to be at
variance from commonly known facts. Read the
conclusion and then decide which of the given
conclusions logically follows from the two given
statements, disregarding commonly known facts.
Give answer :

(a) If only conclusion I follows
(b) If only conclusion II follows
(¢) If neither I nor II follows and
(d) If both I and II follow

147. Statements :
No women teacher can play.
Some women teachers are athletes.
Conclusions :
I Male athletes can play.
11 Some athletes can play.

148. . Statements :
All mangoes.are golden in colour. :
No golden-coloured things are cheap.

- Conclusions :
I . All mangoes are cheap.
IT Golden-coloured mangoes are not
cheap. 1

149. Statements :
Some kings are queens.
All queens are beautiful.,
Ceonclusions :
I All kings are beautiful.
IT"  All queens are kings.

150. Find the number of friangl_e's in the given

" figure.
(@) 12
(b) 18
(c) 22
(d 26
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(d) <% eaa e Il agaed @ad
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148. Q98 : Qg 2IAK agr 99d coIga |
616Q 9ol Qera AW 691 g6d |
dele :

[ qQamagl

L. qRI aere 2R agl ges

149, 998 : 07 QIRI que 26§ |

' 9012 QU gRQ 26F |
dele
I Ag QIR LA 2SS
I a0g 6len QIe)

150. @gea QUKL F96Q, 6R6o6aIT oQe
g ? :

@@ e9
(b) er
() 99
d 99

ND - 2D/34 . (3097 (Turnover)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

il

ND - 2D/34

Space for rough work

(31)

: GET IT ON
Google Play

ANZ 2022 .


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

